Period Date

You, tha betij W

bellers leas if thoas offic

@ has realized some horses are more likely to win, so thay will pay
horses win

(Way 1o go, party pooper!) Here are the new payouts
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b. But of course it costs money to place a bet! Al this racetrack, it costs $2 1o place a bel on
any horse. Now what are your expecled eamnings/losses if you bet on horse 47
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2. Caleculate the expeciled earnings/losses on a $2 bet for each horse. (You just did it for horse 4 )
Refer to #10 on the other sheet for P(win)
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Payout $0 $0 $0 50 $0 50 $0 %0 $0 %0 %0 %0
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horse (Remember, it costs $2 to place a bet!)

3. If you were going to bet on this race a million times (always picking the same horse), .

a. Which horse is the best (or least bad) choice? There may be more than one. ‘2.r D, Lp} ‘%’ W\ ,\’.L.

b. Which horse is the worst choice? There may be more than one. \

¢. Should you go through with your plan to bet a million times? Explain mathematically in two

or three full sentences. : : .
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